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e ETC problem: FCNC's: Mgpo 2 1000TeV
= mq ~ MeV, Mzp, ~ GeV:

Cured by walking T C gauge coupling!
(arc(IRFP) = arc(xSB) + ¢

= B(arc) ~ 0 from Ape to S Mgre)
WTC = enhanced (IT'T)grc and Mz

e TC problem: S >0, O(1):
Possibly cured by walking arc.
WTC = usual (QCD-based) assumptions

for S are wrong!
W' C suggests towers of I =1 pp and arp
extending up to ... 7



Walking TC strongly suggests Np > 1.

(e.q.) Pr =246 GeV /v Np < 100 GeV

Many T and many prT, ar, Wt
Focus on the lightest!

Fr S 100 GeV = expect My, ~ 100 — 400 GeV

WT C enhancement of My, => My, S 2Mq, !

And pr,wr are very narrow!!

New observation from S:

ar is likely light, Mg, ~ M.,

within reach if pp, wp arel




— MANY striking experimental consequences
at Tevatron and LHC!



IF LSTC is responsible for EWSB —
It may be found at the Tevatron!
It can & will be found at the LHC!

701 =1), QU =0), a7°(I =1) are
produced via the Drell-Yan VMD process:

aq — v, Z°,WE = pp, wp, ap — WHAT??

e WTC, S
— lightest M, ., My, Mo, S 2Mp,

= p7 — T TT likely CLOSED!

= wT, a7 — T PT, 37TT definitely CLOSED!

HOW do pr, wp, ar DECAY?




Most likely LSTC observation channels:

Process Tevatron | LHC 2 10 TeV
wp — Y5 — ybb ? 777
° — ~Z0 — 0T 77 Y
— 0t Y Y
p% — WEnl — *bg Y N
— WTW ™ — (F1,55 ? 77
— yrd — vbb ? 7
— 0T ? ?
pift — Wim% — {*uybb Y N
— 720t — ¢tebg 7 Y
° — WEZ0 — ¢xpeti— K Y
— vy — vbg ? 777
— AWT — vty ? Y7
ad — W=l — (Fubg Y ?
— WEWT — 0*1,55 7 77
o — (T Y7 Y
ai}: — 777% — vbq ? 777
° — AWT — yfty, ? Y
— 720t — ¢t bg ? Y
— WEZ0 — ¢Epte- ? Y7

Y = Yes, for a range of masses and nominal parameters
Y7? = Maybe, needs more study

N = No, probably because of backgrounds

? = Needs more study

PP =Y7-¢€



